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Ve AL RN

EFRAS R RS
2020 &£ 3 H
YE& AE
S HeERPRE® R EE R
(kg/hr) (kg/hr) (kg/hr) (/)
(a) |FFEEEH - B/ E(HFETREN AR EE)
(A 2.277 0.031 - 0.233 0.065 &
LA i 1.512 0.003 - 0.515 0.087 =
/L4, (HCI) 4,545 0.009 - 0.230 0.146 =
mIbE (HF) 0.306 0.006 - 0.073 0.034 =
— &b (SO2) 15.147 0.096 - 3.279 2.366 =
—4& kbR (CO) 7.578 0.000 - 0.171 0.067 =
HELY (NOx)
PL=&dE%E (NO2) 30.303 0.395 - 7.357 1.065 =
s E
(b) BN - HIME (HEFRENAGEE)
(A 0.756 0.060 - 0.078 0.066 &
LA 0.756 0.036 - 0.127 0.087 =
Z/LE (HCI) 0.756 0.078 - 0.197 0.146 s
wAbE (HF) 0.072 0.024 - 0.048 0.034 =
— &b (SO2) 3.789 1.974 - 2.604 2.362 =
—&Ei% (CO) 3.789 0.033 - 0.144 0.066 =
HAY (NOx)
DL=%AEE (NO2) 15.147 0.728 - 1.455 1.055 =
ETHE
28 HERPRE® BEa=st R R
(kg/hr) (kg/hr) (/)
() FREN (HE{LEBFTER)
7K 0.003789 <0.0003 =
S SE VAR 0.003789 <0.001 =
R A 0.0378 <0.0047 &
IR R g ) 7.575 x 10°° <5.209 x 1020 &




Ve AL RN

EFRAS R RS
2020 &£ 3 H
YK AF
S HeERPRE® R EE R
(kg/hr) (kg/hr) (kg/hr) (/)
(a) |FFEEEH - B/ E(HFETREN AR EE)
(A 2.277 0.002 - 0.051 0.004 &
LA i 1.512 0.013-0.576 0.090 =
/L4, (HCI) 4,545 0.035 - 0.180 0.127 =
mIbE (HF) 0.306 0.000 - 0.067 0.035 s
— &b (SO2) 15.147 0.004 - 3.016 2.168 =
—4& kbR (CO) 7.578 0.000 - 0.608 0.062 =
FALY) (NOx)
PL—&/EE (NO2) 30.303 0.193 - 5.699 1.263 =
EFE
(b) BN - HIME (HEFRENAGEE)
(A 0.756 0.003 - 0.011 0.004 &
LA 0.756 0.055 - 0.161 0.090 =
#F/bE (HCI) 0.756 0.096 - 0.155 0.127 s
wAbE (HF) 0.072 0.017 - 0.047 0.035 s
—&AbiR (SO2) 3.789 1.825 - 2.363 2.169 =
—&Ei% (CO) 3.789 0.015 - 0.216 0.064 =
HAY (NOx)
DL=%AEE (NO2) 15.147 0.561 - 2.683 1.257 =
ETHE
28 HERPRE® BEa=st R R
(kg/hr) (kg/hr) (/)
() FREN (HE{LEBFTER)
7K 0.003789 <0.0003 =
S SE VAR 0.003789 <0.0012 =
R A 0.0378 <0.0052 &
IR R g ) 7.575 x 10°° <5.680 x 1020 &




Ve AL RN

EFRAS R RS
2020 &£ 3 H
Y& BE
S HeERPRE® R EE R
(kg/hr) (kg/hr) (kg/hr) (/)
(a) |FFEEEH - B/ E(HFETREN AR EE)
(A 2.277 0.026 - 0.164 0.082 &
LA i 1.512 0.023 - 0.493 0.083 =
/L4, (HCI) 4.545 0.030 - 0.139 0.091 =
mIbE (HF) 0.306 0.008 - 0.085 0.026 s
— &b (SO2) 15.147 0.080 - 2.865 1.838 =
—4& kbR (CO) 7.578 0.000 - 0.241 0.052 =
HELY (NOx)
PL=&dE%E (NO2) 30.303 0.353 - 7.167 0.911 =
s E
(b) BN - HIME (HEFRENAGEE)
(A 0.756 0.071 - 0.091 0.081 &
LA 0.756 0.049 - 0.127 0.083 =
#F/bE (HCI) 0.756 0.074 - 0.111 0.091 s
wAbE (HF) 0.072 0.018 - 0.037 0.026 s
— &b (SO2) 3.789 1.615 - 1.968 1.835 =
—&Ei% (CO) 3.789 0.000 - 0.130 0.052 =
HAY (NOx)
DL=%AEE (NO2) 15.147 0.359 - 1.233 0.905 =
ETHE
28 HERPRE® BEa=st R R
(kg/hr) (kg/hr) (/)
() FREN (HE{LEBFTER)
7K 0.003789 <0.0003 =
S SE VAR 0.003789 <0.001 =
R A 0.0378 <0.0045 &
IR R g ) 7.575x 10°° <5.047 x 1010 =




Ve AL RN

EFRAS R RS
2020 &£ 3 H
Y& BF
S HeERPRE® R EE R
(kg/hr) (kg/hr) (kg/hr) (/)
(a) |FFEEEH - B/ E(HFETREN AR EE)
(DA 2.277 0.006 - 0.052 0.017 &
LA i 1.512 0.013-0.279 0.062 =
(L& (HCI) 4,545 0.012 - 0.246 0.118 =
mIbE (HF) 0.306 0.001 - 0.063 0.033 s
— &b (SO2) 15.147 0.000 - 2.564 1.581 =
—4& kbR (CO) 7.578 0.003 - 0.151 0.063 =
HELY (NOx)
PL—&/EE (NO2) 30.303 0.377 - 8.914 0.928 =
s E
(b) BN - HIME (HEFRENAGEE)
(A 0.756 0.012 - 0.027 0.017 &
HEA T 0.756 0.033 - 0.098 0.061 =
Z/LE (HCI) 0.756 0.077 - 0.206 0.116 s
wAbE (HF) 0.072 0.027 - 0.038 0.033 s
&R (SO2) 3.789 1.194 - 1.843 1.587 =
—&Ei% (CO) 3.789 0.035-0.114 0.063 =
HAY (NOx)
DL=%AEE (NO2) 15.147 0.570 - 1.806 0.953 =
ETHE
28 HERPRE® BEa=st R R
(kg/hr) (kg/hr) (/)
() FREN (HE{LEBFTER)
7K 0.003789 <0.0003 =
S SE VAR 0.003789 <0.0013 =
R A 0.0378 <0.0056 &
IR R g ) 7.575 x 10°° <6.323 x 1020 &
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(if) TR FTR AR T - BIZE5R VAL T AR A B E AL Ry 10um B/ -
(iii) fERHT 30 o8 feiet 8 /NRFHUGHANHYFE(E - BRESE ~ B ~ &% ~ 5f - 83~ 87~ &f > PR -
(iv) 1£ 6 2 8 /NEFHURIINEYFH(E -



